
Accessories

Transport lines and flexible constructions in automation

100

Naziv Tečaj -sestavni deli Cerniera componenti Descrizione

Description Hinge component Scharnier - komponenten Beschreibung

30

G

Al
Elo

8/10     F{mm} G{mm} H{mm} Fa max{N} Pro&le Code

Hinge

component

1pcs.

19,5 32 Ø6,4 150 30 20g 12156

25 42 Ø6,4 150 40 25g 12157

27 47 Ø6,4 150 45 28g 12158

34,5 62 Ø6,4 150 60 36g 12159

Bolt - - Ø6 - - 12g 12160

Cover Cap - - Ø10 - - 0,15g 12161

A

Assembly components - sold separately Code

Screw with countersunk head M6x12 36 11162

Hammer Nut M6 U8 38 11057

1

2

Assembly components - sold separately Code

Screw with countersunk head M6x16 36 11027

Hammer Nut M6 U10 38 11060

1

2

B

C

A B C

F
50

4

NEW
PRODUCT

4x

4x

1

2

H

8     

10     


